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1
Introduction
In RAN2#62bis, the CR [1] was discussed that proposes the following correction to Section 5.1.2.2.3: Actions when an UMD PDU is placed in the reception buffer:


However, it could not be concluded whether there is a case for this correction. This contribution points out one such case.

2
Example case
Assume the following chain of events.

1. Initial state: all PDUs with SN <= k - 1 have been received. Hence, 
VR(UH)=VR(UR)=k, VR(UX)=NULL, and T_reordering is not running.

2. PDU with SN = k+2 is received.
→ VR(UH) is set to k+3
→ T_reordering is started, since still VR(UR)=k < VR(UH)
→ VR(UX) is set to VR(UH) = k+3.

3. PDU with SN=k is received.
→ VR(UR) is updated from k to k+1
→ T_reordering is running. In the clause quoted above, the condition  VR(UX) <= VR(UR) does not hold, but  still VR(UX)=VR(UH) and hence VR(UX) falls outside of the reordering window.
In this case, without the change quoted above, T_reordering will be stopped and reset when VR(UX)=VR(UH), which is not the purpose.
3
Conclusion
We propose to agree the CR [1].
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if T_reordering is running:


if VR(UX) <= VR(UR); or


if VR(UX) falls outside of the reordering window and VR(UX) unequals to VR(UH):


stop and reset T_reordering;


set VR(UX) to NULL;








